
	
You are going to listen to a report on how restaurant chains can stay in business in economically 
difficult times. First you will have 45 seconds to study the task below, then you will hear the 
recording twice. While listening, match the beginnings of the sentences (1-8) with the sentence 
endings (A–K). There are two sentence endings that you should not use. Write your answers in 
the boxes provided on the answer sheet. The first one (0) has been done for you.

After the second listening, you will have 45 seconds to check your answers.

	  

How restaurant chains survive the economic crisis

0 The restaurant on university grounds ___.

1 Restaurants have to close when they ___.

2 The habits of people eating out ___.

3 Failed businesses often ___.

4 Successful chains use cheap loans to ___.

5 Customers of fast casual restaurants ___.

6 Fast casual restaurants are opened because they ___.

7 The priority for expanding companies is to ___.

8 Chains control their expansion so as to ___.



A require little investment

B get new locations

C cannot find a good place for business

D do not adapt

E settle their bills first

F change their economic set-up before restarting

G acquire only suitable locations

H have altered

I doesn’t do business outside term time

J begin with one location only

K retain their quality



How restaurant chains survive the 
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